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[am a tree.
I .am 10 years old.

I live in the mountain.

I get one ring each year.

Tree Rings

Do you know how people can find out how old I am?

Just by looking at my stump.

I have 10 rings on my stump.
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Q2: I am a tree./
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Q3: I am 10 years old./
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Q4: I live in the mountain./
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Q5: Do you know/ how people can find out/ how old I am?/
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Venus Flytraps

Have you heard of the plant eating insects?
The plant is called a Venus Flytrap.
The Venus Flytrap eats insects.

Insects like the bright colors of Venus Flytraps.

When flies sit on the plant, it closes itself with saw-toothed leaves.

Venus Flytraps eat flies.
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How do vegetables have colors?

Carrots, broccoli, and eggplants have colors, pigments.

Carrots have pigments, carotenoids.

Broccoli has its natural plant pigments,
chlorophyll.

Eggplants have anthocyanins.

The vegetables' colors appear with special chemical compounds.
In the compounds, there is choromophore.

With pigments, vegetables have colors.
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How Can Cactuses Live in the Deserts?

The cactus lives in the deserts.

Do you know how cactuses can live
in the deserts?

Cactuses can live in the deserts

because they have spines.

Cactuses absorb water quickly.

But, cactuses do not lose water.

With cactuses’ spines, they can keep their water from the sun.

The spines protect cactuses from losing their liquid.

This is how cactuses can live in the deserts.
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Mold Growing on Bread

My mother bought bread from bakery.

It has been raining for the past few days.

When I got home from school, I went to look for the bread.

Then, I saw some greenish, whitish, and bluish marks on the bread.

Ugh... Molds have been growing on the BREAD!

Where does the mold come from?

The mold comes from spores.
Spores are invisible to human eyes.

The mold eats bread.

17
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Why do Leaves Change Color?

The leaf has colors. ? -' m
Leaves are green in the spring andgin the summer. %% <8

..l.‘.-.-.'f

Green leaves need the green pigment, chlorophyll.

CO 2(carbon dioxide),l ‘

b

With sunlight, chlorophyll, wat

leaves look green.

When there is less energy a8

the chlorophyll cannot be ac

|
Other colors become more active.” . =

This is why leaves turn red and yellow in the fall.
When you go hiking in the mountains in the fall,

you can see the leaves turning red and yellow.
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Frogs’ Teeth

Do frogs have teeth?

Frogs have teeth, but they are only in the upper jaw.

They are called maxillary teeth.

The frog uses its teeth to catch prey.

It does not use its teeth to chew its food.
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Camel's hump

Do you know what is in camels’" humps?
It is fat.

Camels store fat in their humps.

This is how camels can walk in the deserts for a while.
Camels can go for more than half a year without drinking water.

Camels’ humps will shrink and eventually disappear.
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Bats Hanging Upside Down

Do you know why bats hang upside down?

It is because of their weak legs.

Their legs are too weak to support their bodies.
So, bats cannot stand on the ground for a long time.

Now you know why bats hang upside down in a cave.
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Q2: Do you know/ why bats hang upside down?/
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Q3: It is because of their weak legs./
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Q4: Their legs are too weak/ to support their bodies./
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Q5: So, bats cannot stand/ on the ground/ for a long time./
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Q6: Now you know/ why bats hang upside down/ in a cave./
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Centipedes’ Legs

I am a centipede.

I have many legs.

Do you know how many legs I have?
I have 15 pairs of legs.
But, do you know some of my friends have 200 pairs of legs?

They have so many legs.

When they walk, they cannot see anything but their legs.
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Sjj Ad:

Q2: I am a centipede./
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Q3: I have many legs./
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Q4: Do you know/ how many legs I have?/

SfA:

Q5: I have 15 pairs of legs./
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Q6: But, do you know/ some of my friends/ have 200 pairs of legs?/
Sl A

Q7: They have so many legs./

Sjj Ad:

Q8: When they walk,/ they cannot see anything/ but their legs./
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Spiders’ Webs

Do you know how spiders build spider webs?

The spider uses silk to build the spider web.
Spiders have spinneret glands in the abdomen.

The gland produces silk.

Do you know how spiders do not stick to spider webs?

It is because the tips of their legs are oily.

This helps them walk on their webs.
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Q1: Spiders’ Webs/

SfA:

Q2: Do you know/ how spiders build spider webs?/
Ol Ad:

Q3: The spider uses silk/ to build the spider web./

S A

Q4: Spiders have spinneret glands/ in the abdomen./
Sl A

QS5: The gland produces silk./

Sij A:

Q6: Do you know/ how spiders do not stick/ to spider webs?/
S A

Q7: It is because/ the tips of their legs/ are oily./

Sjj Ad:

Q8: This helps them walk/ on their webs./
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Snakes' Forked Tongues

Do you know why snakes have forked tongues?
Snakes have forked tongues to smell and catch prey.

Snakes have eyes, but they cannot see well.

They rely on their forked tongues to smell and catch prey.

'Ok, then. Let me go find something to eat... '
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Q2: Do you know/ why snakes have forked tongues?/
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Q3: Snakes have forked tongues/ to smell and catch prey./
Sl A

Q4: Snakes have eyes,/ but they cannot see well./

SfA:

Q5: They rely on their forked tongues/ to smell and catch prey./
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Qe6: 'Ok, then./

Sl A

Q7: Let me go find something to eat... '/

Sjj Ad:
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Polar Bears in the Arctic

Why do you think polar bears live only in the Arctic?
The polar bear loves to eat seals.

Seals live in the Arctic.

Polar bears cannot eat seals if they leave the North Pole.
‘T will just stay in the Arctic.
I have my seals.

[ do not have a reason to leave!
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Q2: Why do you think/ polar bears live/ only in the Arctic?/
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Q4: Seals live in the Arctic./
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Q5: Polar bears cannot eat seals/ if they leave the North Pole./
Sij A:

Q6: T will just stay in the Arctic./

Sl A

Q7: I have my seals./

Sjj Ad:

Q8: 1 do not have a reason to leave.”/
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Bears Sleep in The Winter.

I studied about bears today.
My teacher said bears sleep in the winter.

Do you know why bears sleep through the winter?

It is because of the cold weather.

Bears eat mostly nuts and berries.

It is too hard for bears to find nuts and berries in the winter.

They cannot find enough food during winter.
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QL: Bears Sleep in The Winter./

SfA:

Q2: I studied about bears today./
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Q3: My teacher said/ bears sleep in the winter./
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Q4: Do you know/ why bears sleep/ through the winter?/
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Q5: It is because of the cold weather./
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Q6: Bears eat mostly nuts and berries./

Sl A

Q7: It is too hard for bears/ to find nuts and berries/ in the winter./
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Q8: They cannot find enough food/ during winter./
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Dogs Have Wet Noses.

Do you know why dogs have wet noses?
Some think it is because dogs are healthy.

Others think it is because dogs always lick their noses.

Do you know why they lick their noses?
They lick them to keep their noses wet.

They can smell well with their wet noses.

When it is wet outside, dogs can smell better.
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Q2: Do you know/ why dogs have wet noses?/
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Q3: Some think/ it is because dogs are healthy./
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Q4: Others think/ it is because dogs always lick their noses./
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Q5: Do you know/ why they lick their noses?/

Ol Ad:

Q6: They lick them/ to keep their noses wet./

S A

Q7: They can smell well/ with their wet noses./

Sl A

Q8: When it is wet outside,/ dogs can smell better./
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Ostriches Can’t Fly!

Do you know that ostriches are birds?

Even though ostriches are birds, they cannot fly.

Do you know why ostriches cannot fly?
Ostriches are too heavy to fly in the sky.

Ostriches weigh about 150 kg.

They do not have enough muscles to carry themselves off the ground.

Since they are heavy, they can only stay on the ground.
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Q2: Do you know that/ ostriches are birds?/
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Q3: Even though ostriches are birds,/ they cannot fly./
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Q4: Do you know/ why ostriches cannot fly?/

Sjj Ad:

Q5: Ostriches are too heavy/ to fly in the sky./
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Q6: Ostriches weigh about 150 kg./
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Q7: They do not have enough muscles/ to carry themselves/ off the ground./
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Q8: Since they are heavy,/ they can only stay on the ground./
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I am a kangaroo.
I am a marsupial.

So, I have a pouch.

Do you know why I have a pouch?

I have a pouch for my joey.

My joey grows in my pouch.

I can protect my joey from predators.

She will grow healthy in my pouch.

She will jump out of it when she is ready to jump alone.
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Q1: Kangaroos Have Pouches./

SfA:

Q2: I am a kangaroo./
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Q3: I am a marsupial./
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Q4: So, I have a pouch./
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QS5: Do you know/ why I have a pouch?/
Sij A:

Q6: I have a pouch/ for my joey./
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Q7: My joey grows/ in my pouch./

Sjj Ad:

Q8: I can protect my joey/ from predators./
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QO: She will grow healthy/ in my pouch./
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Q10: She will jump out of it/ when she is ready/ to jump alone./
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Male Crickets Sing!

Chirr.... Chirr.....
“You stay away from the girl.
Can't you see that I am singing because of her?

I want to marry her”

Do you know why male crickets sing?
Male crickets chirp to attract female crickets.
Male crickets sing to repel other male crickets.

Male crickets also chirp to mark their areas.

Only the male cricket can sing by rubbing their wings.
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Chameleons’ Skin Color

I have a friend.

She is a chameleon.

[ talked to her last week.

She was in green and on a leaf.

I saw her yesterday.

She was in red, but she was on a leaf.

Do you know why she was not green?

It is because she changed her skin color.

Chameleons change their skin color.

It changes because of light, temperature, and her emotions.
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Giraffes Have Long Necks

I live with my family and friends in Africa.

We are vegetarians.

I have a long neck.

I love my long neck.

Do you know why I love my long neck?

It is because I can eat my favorite food.
I love acacia trees’ leaves best.

Acacia trees are very tall.

I can eat acacia trees' leaves with my long “NECK."

Yes, my neck is very useful!
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